
J&M Manufacturing Co, Inc
284 Railroad Street - P.O. Box 547  |  Fort Recovery, OH 45846  |  Ph: (419) 375-2376  |  Fax: (419) 375-2708

www.jm-inc.com

Re
v.

 1
.3

0.
20

24

4WS Header  Transpor t
U P D A T E  K I T

MacDon FD2 Extension
JM0080137

Manual

This kit number is for one arm only so you will need to order a quantity of 3.
If your 4WS only has 2 arms you must order the “Upper Bar Center Support 
Upgrade” which is the part number JM0058519.

https://jm-inc.com/manuals/header-transports/s_4WS_middle_support.pdf
https://jm-inc.com/manuals/header-transports/s_4WS_middle_support.pdf
https://jm-inc.com/manuals/header-transports/s_4WS_middle_support.pdf


2

MacDon Extension for 4WS

10

2

1

3

4

8

7

9

5

6

11

Description Part No.
1 Upper Bar Clamp (4x8) (UBC-3) JM0003081
2 1/2”-13 Gr5 Z SF Hex Nut JM0002153
3 Lifting Arm 10” Extension Weldment JM0079958
4 3/4”-10 x 2” Gr5 Z Hex Bolt JM0002106
5 Lifting Arm with Gusset Weldment - 60” Hole Spread (4WS) JM0080106
6 3/4”-10 Gr2 Z Nylon Locking Hex Nut JM0026756
7 3/4”-10 Gr5 Z SF Hex Nut JM0009921
8 Upper Bar Support Arm (UBSA-3) JM0003077
9 3/4” x 8” Z L Pin (Header Wagon, c450) JM0029738
10 3/16” x 2-1/2” Hair Clip Pin (316HP) JM0001657
11 3/4”-10 x 8” Gr8 Z Hex Bolt JM0080110
12 MacDon FD2 Lifting Arm 10” Extension Assembly JM0080137

Pictures below show the suggested set up for your FD2 MacDon header.

12


